
✁

✓

✘

Accessories
Zubehör
Accessoires

Part No. Version Item Part No. Version Item Part No. Version Item A B C D 

Bestell-Nr./Réf. Bestell-Nr./Réf. Bestell-Nr./Réf.

M 52 15 601 S M 52 15 610 S M 52 15 101 S 150 162.5 150 162.5
M 52 16 601 SL M 52 16 610 SL M 52 16 101 SL 250 262.5 150 162.5
M 52 25 601 M M 52 25 610 M M 52 25 101 M 250 262.5 250 262.5
M 52 35 601 L M 52 35 610 L M 52 35 101 L 350 362.5 250 262.5

A
A

B

A
A

B

Case
Gehäuse
Boitier

Part No. Version A B
Bestell-Nr./Réf.

M 52 15 105 S 44.50 93
M 52 16 105 SL 94.50 93
M 52 25 205 M 94.50 193
M 52 35 205 L 144.50 193

Multitec Assembly instructions/Montageanleitung/Instruction de montage

Metcase, Unit 3, Mitchell Close, Segensworth East, Fareham, PO15 5SE. United Kingdom Tel: +44 (0) 1489 583858  Fax: +44 (0) 1489 583836 E-mail: metcase@okw.co.uk  Web: www.metcase.com
Subject to technical modification without prior notice. Typographical and other errors do not justify any claim for damages. Document number M 52 00 007. Printed in the UK. 08/05 e

Case

1

5

4

2

x 1

x 1

x 1
ø12 x 4
M4 x 10 x 4
M4 x 6 x 4
M2.5 x 6/8
M2.5 x 6/8

1

5

4

3

2

6

7

8

1

1

1

3

Accessories

M4 x 14  x 4
M4 x 4

11a

11b

A
B

C D
ø 5.0(x4)

9
9
9

9

10
10
10
10

11

11

1

4 5

11
11
11

1

6 9

10

1
8

7

11a

11b


